39 KEZAK(AOITAAZRY)

_ (& =)
e E Bk 2% B
RAER | 1 611.9 REFELAEKH(AOIAALTRY)
HEE | 2 556.9 )
HEER |3 266.5 ﬁﬁ
BAHE |4 258.6 /-
KB AF |5 257.1
EHE | 6 251.0
AIHNE |7 249.8 '
E=ERE |8 244.0
wmENNE |9 228.4
EEE |1 226.3
£ = = 225.9
e |11 212.9
LB E |12 212.6
w3 E 13 205.2
FEER |14 190.6
EER |15 1828 (B N)
BEER |16 174.4
=RE |17 174.1 "
dtEE |18 166.0 160~210
BEAKE 19 161.4 110~160
FAEE |20 144.0 ~110
BEERE |21 142.6
Ko B |22 138.1 _ _
RIKE |23 135.3 B e 15 & 8] % [ EIE | T |
AR |24 1341 [KZOZEH (R,
TR |25 1309 |k, smues, BIEL
HBE |26 1277 |msmtzan) A 2,893,434 7,274 47
| S EE 27 1236 [eX%
BEHE |28 123.2
ZHEIE |29 1215 [EfixzosEn
S48 |30 1202 |xoimAzEY)
FH&E |3 116.9 |(=%a. iRl mEEE | A 117 106 28
wmARE |32 1135 |&o
iz 8 | 33 110.6
ERESR | 34 1083 [x=-mmxznsEs
EIWWE |35 1074 |4 (4mBORE~D
EEER |36 1046 |Azzruzmeosz — 108.4 59.8 25
Iz B 8] | 37 1041  |Eo5bResges)
EFNE |38 1024 |&=F. =25, 858580
EHRE |39 101.6
BFE |40 992 |=EzEH
I E | M 97.8 |(AO10BFALTY) 1% 2.55 3.91 1
AR |42 93.7
NErLE | 43 878 |&=x. =w. 58RO
MEERE |4 86.6
=FE 8 |45 823 |wmewm
EEE |46 822 |(AmOi0BALEY) 1% 113 2.21 10
EHE |47 78.5
B — A (BT B8 BBER

OF W 77 & : REPAR(FH. KER. EXH. MR BELEEZEL) - AOBHK

O EW A : (2F)FM23E5A1H
(9 8)FR22410A1R

QF M H A - (9F) XHBRFETERERRE | GEH)
(HB) RBEARARIERRE




